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FIITJEE ADMISSION TEST
Class ( VIII

I.Q.
1.
Clock : Time : : Thermometer :  ?


(A) Ice
(B) Radiation


(C) Energy
(D) Temperature

2.
Drama : Stage : : Tennis :  ?


(A) Tournament
(B) Net


(C) Court
(D) Racket

Directions (3(4): Choose the correct alternatives that will continue the same pattern and fill in the blanks spaces.

3.
0.5, 1.5, 4.5, 13.5, ____


(A) 45.5
(B) 39.5


(C) 30.5
(D) 40.5

4.
34, 18, 10, 6, 4, _____


(A) 0
(B) 1


(C) 2
(D) 3

5.
If x stands for ‘add’, y stands for ‘subtract’, z stands for ‘divide’ and p stands for ‘multiply’ then what is the value of (7 p 3) y 6 x 5


(A) 5
(B) 10


(C) 15
(D) 20

Physics
1.
The heat produced in a current carrying conductor is directly proportional to the value of its resistance. From this information, one can say that the coil of an electric heater must have


(A)
high resistance
(B)
low resistance


(C)
Any moderate value of resistance
(D)
can’t say

2.
Which of the following can form image of objects spread over a large area?


(A)
A concave mirror
(B)
A convex mirror

(C)
a concave lens
(D)
A plane mirror

3.
A thermos flask is polished well


(A)
to make it attractive
(B)
for shining


(C)
to absorb all radiations from outside
(D)
to reflect all radiations from outside.
4.
An iron ball at 40(C is dropped in a mug containing water at 40(C. The net heat will 


(A)
flow from iron ball to water.


(B)
not flow from iron ball to water or from water to iron ball.


(C)
flow from water to iron ball.
(D)
increase the temperature of both.
5.
A body moves 4m towards east and then 3 m north. The distance covered by the body is

(A)
7 m
(B)
6 m


(C)
5 m
(D)
m
Chemistry & Biology

1.
Silk is made of protein named as


(A)
sericin
(B)
casein


(C)
globulin
(D)
none of these

2.
Which of the following statements is correct?


(A)
Acid turns blue litmus red
(B)
Base turns red litmus blue


(C)
Both (A) and (B)
(D)
Water change the colour of litmus

3.
Clotting of blood is 


(A) 
Physical change
(B) 
Chemical change



(C) Both
(D) 
None of these

4.
The most fertile layer of soil is


(A)
A-horizon
(B)
B-horizon


(C)
C-horizon
(D)
Bed-rock

5. 
This is level of ground water


(A) 
aquifer
(B) 
water table




(C) sea level
(D) both (A) and (B)
6.
Food is essential for us because

(A)
It provides energy
(B)
It helps in growth and development


(C)
It keeps diseases away
(D)
All of the above

7.
Which of the following is the strongest and longest human bone?


(A)
Shoulder bone
(B)
Finger bone


(C)
Thigh bone
(D)
All of these

8.
Which of the following is not the raw material of photosynthesis?


(A)
Chlorophyll
(B)
Water


(C)
Sunlight
(D)
Sulphur dioxide

9.
How many teeth are present in each jaw of an adult person?


(A)
10
(B)
16


(C)
20
(D)
32

10.
No energy is released in

(A)
Combustion
(B)
Respiration


(C)
Both (A) and (B)
(D)
Breathing
Mathematics
1.
A rectangular sheet of a cyclic is 34 cm by 24 cm. From it, 64 circular buttons, each of diameter 3.5 cm, have been cut out. The area of the remaining sheet is


(A) 100 cm2
(B) 150 cm2

(C) 200 cm2
(D) 250 cm2
2.
Two poles, 18 m and 13 m high. Stand upright in a playground. If their feet are 12 m apart, the distance between their tops is 


(A) 12 m
(B) 13 m


(C) 14 m
(D) 15 m

	3.
In the given figure, AB || CD. If (ABE = 120(, (ECD = 100( and (BEC = x(, then the value of x is


(A) 30(

(B) 35(

(C) 40(

(D) 45(
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4.
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 is equal to 


(A) 
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64


(B) 
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(C) 
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16


(D) none of these 

5.
By what number should (( 15)(1 be divided so that the quotient is (( 5)(1?


(A) 1/3
(B) 1/4


(C) 1/5
(D) 1/6
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